
− ylny2y 2+x

d
dx
[x
3+y

2−3xy
2]=

−
x y

d
dx
[xy

2 ]=

ddx [x
2y]=

4x 2−2xy+3y 2=8

dy
dx =

2xy
2−x

3y=0

dy

dx
=

y=
4x
−
7

d(cos

dx

d
dx
[x
2 +y

3 ]=

3x
2y

2 dydx +
2xy

3

2x−y+y 2=0
dy

dx =

x−3

2y
3

y=
18
−
4x

d(y
3 )

dx
=
7m

6

re fu
nc

tio
ns

of
x
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3x 2+(2y−6xy) dy
dx −3y 2

2x+
dy

dx
(2y−x)−y

2y
2
−
3x

2 y

x3
−
4x

y

d
dx
[xy

]=

2xy dydx +
y
2

x 3

t
2

x2
+
y2
−
3y
−
2
=
0

A
n
eq

ua
ti
on

of
th
e
ta
ng

en
ta

t
(2
,1
)
is

x2dy
dx+2x

y

u dvdx +

2x+dy
dx(2y

+x)
+y

d
dx
[x
2 +y

2 −xy]
=

2x+
3y

2 dydx

d(x 3)
dy =

d(
si
n
θ)

dθ
=

d(m
7 )

dm
=

d(t 3)
dt
=

n
θ)

x
=
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2y+12(x−2)

x
2+y

2=2

dy

dx
=

2

1
−
2y

d(5
x
4 )

dx
=

d(x
3)

dx
=

d
dx [x 3y 2]=

d dx
[x

2 y
3 ]
=

2x3
ydy
dx+3x2

y2

x dydx

−si
nθdθ

dx

x
2 +4x

y−3
y
2 −36

=0

An
equ

atio
n of

the
tan

gen
t at

(4,
2) i

s

cosθ
dθdx

3y 2 dy
dx

3x
2dx

dy

2x
2
−
xy
+
y2
=
28

A
n
eq

ua
ti
on

of
th
e
ta
ng

en
ta

t
(3
,5
)
is

4x−
y

x−3
y

y=8−
x

y
4=

x
2−

6x+
2

dydx =

d
dx
[x
2+y

2+xy]=
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